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DIRECTIONS:

Do not open this booklet until you are told to do so.

This is a test of your competence in high school algebra. For each probiem
there are 1isted 5 possible answers; one and only one is correct. You are to work
each problem, determine the correct answer, and indicate your choice by making a

heavy black mark in the correct place on the separate answer sheet provided. You
must use a pencil with soft lead (No. 2 lead or softer). A sample problem follows:

1. If 2x = 3, then x equals
(a). 2/3. (b). 3. (¢). 6.
(d). 3/2. (e). none of these

The correct answer for the sample problem is 3/2, which is answer (D); so you
would answer this problem by making a heavy black mark under space D as indicated
above.

This test has been constructed so that most of you are not expected to answer
all questions. Do your very best on the questions you feel you know how to work.
You will be penalized for incorrect answers so it is advisable not to do much wild

guessing.

If you should change your mind about an answer, be sure to erase compietely.
Do not mark more than one answer for any problem. Make no stray marks of any kind

on your answer sheet.

The answer sheets will be used for a statewide statistical compitation and
will not be returned to you. If you wish a record of your performance, mark your
answers in this booklet also. You will be able to keep this booklet after the

test is compieted.

When told to do so, open your test booklet to page 2 and begin. When you
have finished one page, go on to the next. The working time for the entire test

is 80 minutes.
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1. If x 1is a real number, what are all the values of x for which

x4 + 16 is a positive number?

{a). A1l x greater than -2
(b). A1l x greater than zero
(c). A1l x greater than 2
(d). A1l x between -2 and 2
(e). A1l values of x

2. For what values of x is g—= %-(x - 3) - %— a true statement?

(a). O only

{b). 3 only

(c). 0 and 3 only
(d). A1l values
(e). No value

ar

3. Solve the formula E = 3+ T for r.
(a). r = (aE)/(a - E)
(b). r = (aE)/(a + E)
(c). r=aE~-a+E
(d). r=af -a - E
(e). r=a-~- (E}/(a - E)

4, If x 1is greater than 3, which of the following is the smallest?

(a). 3/x
(b). 3/(x +1)
(c). 3/(x-1)
(d). x/3
(e). {(x +1)/3
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5. Evaluate i2 + 14 + 16, where 1§ = /~1.

(a). =3
(b). -1
(¢). 0
(d). 1
(e). 3
6. -16"V/2 4 g?%/3 45 equal -to
(a). -8/3.
(b). O.
(c). 3 3/4.
(d). 4 1/4.
(e). 8.

7. What are all the values of c¢ for which x2 + 2% + ¢ = 0 has
imaginary roots?

{a). ¢ < -1
{(b). ¢ <1
(¢). c> -1
(d), ¢>0
{e). ¢ »>1

8. If 1log. 10 = p and 10g.2 = q, then l0g, 20 is equal to
b b b

(a). pqg.



9.

10.

12.
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If x -7 1is a factor of xz - 3x + p, what is the value of p?

{a). -28
(b}, =21
(c). -T10
(d). 2]
(e). 28

If a, b, and ¢ are real numbers, which of the following is always
true:

(a). a+{b-c)={(a+hb)+c

(b). (a+b)-(a+c)=1(b-2c)ea

(c). a(b~c)=1{(a +b)-c

(d). (b+c)yz:a=>b+(c+ a)

(e). (b+cla=">b+ca.

when' % is a real number, \/Q?' is always equal to

(a). x.

(b). - x.

(c}. 1.

(d). Ix].

(e). 2Vx.

If x is a real number and [x| = -x, then which of the following is true?
(a). x#£0

{(b). x>0

(c). x<0

(d). x = - x

(e}. AIl of these are true.
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14,

15.
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The distance between points P(-3, -1) and Q(9, 4) is equal to

(a). /61.
(b). J/T53.
{c}. 13.
(d}y. 17.
(e). 3+/5.
The solution for the equation = g 1_m 5 2 4 m13 -4, is
(a)., m=17.
(b). m = 63,
(c). m= 28,
{(d). m= 52,
(e). m = 47,

The area of a rectangle is (y2 + 4y - 8) square inches. A square of
equal area has a side with measure y inches. The area of the rectangie

is equal to

2 square inches.
6 square inches.

)

)

). 1 square inch.
). 12 square inches.
)

(
(
(
(
(

4 square inches.

i

The 11th term of the geometric progression 1/2, 1, 2, ... is

{a). 512.
(b). 10.

(c). 11/2.
(d). 1024,

(e). 256.
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18.

19.

20.
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a)
b)
c).
d)
e)

The product of {2x

(a).
(b).
(c).
(d).
(e).

Which

(a).
(b).
(c}.
(d).
(e).

Which

P e e
[ I = M ]
et et et e e
. . .

+ /27 simplifies to

5+/3.

V39.
V324.

39

one

The
The
The
The
The

one

The
The
The
The
The

3vb.

of the following sets has the dense order property?

integers
counting numbers
rational numbers
even numbers
complex numbers

of the following sets is not closed under addition?

real numbers

integers

even integers

odd integers

positive rational numbers

2/Sy) and (1/2)(x3/5y"7) can be expressed as
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21. Given the linear equation 2x + 3y - 5 = 0, whose sdope is m and
whose y intercept is b. Which of the following is true?

(a). m=5/3, b=-2/3
(b). m=-3/2, b=5/2
{(c). m=2/3, b=-5/2
(d). m=-2/3, b =-5/3
(e}). m=-2/3, b=5/3

22. A certain number exceeds its reciprocal by 15/4. Which one of the
following is a solution?

(a). -4

(b). 1/4
(c). -3/4
(d). 3/4
(e). =~1/4

23. A 550 mile Tong trip could be traveled in 1 hour less if the present
speed were to be increased by 5 m.p.h. What is the present speed?
(a). 30 m.p.h.
(b}. 40 m.p.h.
{c). 45 m.p.h.
(d). 50 m.p.h.
(e). 55 m.p.h.

24. ghich of ?Ee following statements correctly describes the graph of
x -y > 17
{a). The set of points above the line y = 2x - 1.
(b). The set of points below the 1line y = 2x - 1.
(c). The set of points on the line y = 2x - 1.
(d). The graph contains the point (2, 5).
(e). None of these describes the given graph.
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26.

27.

28.
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The formula for simple interest is a = P(1 + rt). Find the value
for t when a = $295.30, P = $250.25, and r = 4%%,

a). b years

(=2

2% years

o

4 years
6 years

(a)
(b)
(c}. 3% years
(d)
(e)

e).

Find the value of the expression [x2 O L T
when x = 1/2.

(a). -7 1/4

(b). 81/2

(c). -101/4

(d). 11 3/4

(e}. -9 1/2

What is the remainder when x5 - 1 1is divided by x - 27

{a). 63
(b). 31
(c). =-31
(d). -33
(e). 33

The diagonal of a cube with an edge 6 inches long is:

(a). 6+/2 inches
(b}. 18 inches
{c}). 12 inches
(d). 6+/3 inches
{e). 10.7 inches



29,

30.

31.

32.
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The quadratic equation whose roots are 3 and -2 is:

(@), x%-x-5=0
i

(b). x“+x-6=0

{c). x2 -bx -6=0

(d). %% -x-6=0

(e). x2-6=0

The equation of the line through the points (3, 2) and (0, -7) is

(a). 3x -y ~-7=0.
{(b). 3x+2y -7 =0.
(¢). Bx + 3y + 21 =0.
(d). 3x -y -3s=0.
(e}). 5x -3y -9 =0,

In the solution set for the system of equations { ; ¥ y2= 5 } ., the
larger value for x is: X~ o+ 17

(a). 5
(b). 2
(c). 3
(d). 3%

(e}. none of these

2

One of the roots of x4 - 12x" + 32 =0 s

8.

(a).
(b).
(c}. -VZ.
(d).
(e).



33.

34.

35.

36.
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The roots of x2 -2x -1=0 are:

(a).
(b).
{c).
(d).
(e}.

Find the solution set for t, the number of seconds required for a
ball thrown upward with initial velocity, v = 48 fset per second,

to be

(a).
(b).
(c).
(d}).
(e).

If S
which
(a).
(b).
(c).
(d).
(e).

If (2

(a).
(b}).
{c).
(d).
(e).

at a height, h, of 32 feet when h = vt - 16t°.

{1}

{2}

{1, 2}

{(3 + VI7}/2}
{2/3}

is the sum of a non-zero real number and its reciprocal then
of the following is true about S?
S>1
S>2

Is] > 2

S| <2
S is positive

+ i)(x + yi) = 5 + 5i then the values for x and y are:

= 10/3, y = 5/3
5/3, y = 10/3
=1, y=3

5/3, ¥
3,y =1

3]
1]

5/3

x X X X X
i

1
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37. Two numbers have a ratio of 1 éo 3. If the difference between the
squares of the numbers is 1800, what is the larger of the two numbers?

(a). 45
(b). 54
{c}. 30
(d}. 15
(e). 48

ax + by = bl .._.
2 s

38. The solution set {x, y} for the system i X -~y =

(a)}. {(3b)/{a +b), (b - 2a)/(a + b))}, a # -b
{(b). {(b - 2a)/(a +b), (3b)/(a +b)}, a # -b
(c). {{2a - b}/(a +b), (3b)/(a +b)}, a#-b
(d). {(3b)/(a +b), (2a - b)/(a + b))}, a # -b
(e). {(b - 2a)/(a - b}, (3b)/(a~b)}, a#b

39. A solution for gi ! } " ;O = gi = } is:
X" -1
(@), x =1
(b). x =1/2
(c). x = 4/5
tday. x = 5/4
(e). x=2

40. {{x,y)] P(x,y}} is a function when P(x,y) is which one of the following?

{(a). x2 + y2 = 9

(b). x-y%=1
{c). y-x"=1
(d). iyl = |2x|

(e). x" -y~ =29






